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Ch. 5.1-5.3 Quiz Review- Digits

1. Find the Constant of Proportionality.

Pounds | Cost
of of %
Apples | Apples
5 0] 0
3 2
6 4
9 6

Constant of Proportionality =

3. Write in ah equation the represents
the situation in #2.

Equation:

2. An dirplane company rewards the customers who
fly offen with a frequenf flyer program. The airline
will give their customers 825 points for every 3
flights that they take. Draw a graph, which models
this situation. Make sure to include all labels.
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4. Multiple Choice: Circle your answer. What Geethe ways to tell if the graph represents a

proportional relationship? O/w*de ALl Wk 0«.(7?[5 .

A: The graph will be a curved line.

B: The graph will pass through the origin.

C: The graph will be a straight line.

D: The graph will be a line thdt shows a
negative relationship.

5. The amount of money earned W, in dollars, is a_function of the number h of hours ‘worked.

Identify the dependent and independent variables.

- PREp—.Y

™

N — /Pr-f -
(Hours, h % 2 5 s
Mone Money 1 (), 3 ur, : o §
"ﬂ n% p = (b)l w - 0 '76 qo 5 !O:“
eoJfV\ed N ——rs - — ~ = .
Independent: Dependent:

#6-7: Find the slope of the line that passes through each pair of points. Simplify your answer.

Place your answer on the line provided.

6. (-5,-2), (5,-5)

7. (-5,4), (-4,-5)




#8-10: Find the slope of each line. Simplify your answer. Place your answer on the line nraovided.
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{\. The graph below répresents_ the number of miles Michael ran over time.
What is the constant of proportionality?
50
Yo
30
0

{6

1. A. What is the constant of proportionality:

B. Write an equation that models the line:

Miles

0 &  © & .20 2 . , -
Minutes : :

12. The graph below represents the number of vertical jumps Ava can do
over time. What is the constant of proportionality?
12. A. What is the constant of proportionality:

44,
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T
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B. Write an equation that models the line:

No. of Jumps

0 b VA i 24 30
Minutes

# 13- 14:Mason can make 24 omelets with 8 eggs. Mason’s mom can make 30 omelets with 12 eggs.
Write an equation that models how many omelets (+) each person can make with any number of eggs (g).

13. Equation to represent Mason:

14. Equatien-to represent Mason’s -mom:
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Ch. 5.1-5.3 Quiz Review- Digits 2. An airplane company rewards the customers who
fly often with a frequent flyer program. The airline

will give their customers 825 points for every 3

1. Find the Cons’ran’{"of Proportionality.

AL flights that they take. Draw-a graph, which models
Pounds | Cost this situation. Make sure fo include all labels.
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3. Write in an equation the represents %19 ~
the situation in #2. {00
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4. Multiple Choice: Circle your answer. What is=ene-way to tell if the graph represents

proportional relationship? (e le AL Ahat opp (\\j .

A: The graph will be a curved line. @The graph will be a straight line.
@The graph will pass through the origin. D: The graph will be a line that shows a

negative relationship.

5. The amount of money earned W, in dollars, is a function of the number A of hours worked.
Identify the dependent and independent variables.
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Independent: %\OLU(S Dependent: MWMMC/

#6-7: Find the slope of the line that passes through each pair of points. Simplify your answer.
Place your answer on the line provided.
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#8-10: Find the slope of eaci: line. Simplify your answer.
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HThe graph below represents the number of miles Michael ran over time.
What is the constant of proportionality?
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answer nr tha line nrovided.
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11. A. What is the constant of p:%r’rlonahfy:
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B. Write an equation that models the line:

U= Aut
0

17. The graph below represents the number of vertical jumps Ava can dc
over time. What is the constant of proportionality?

" I
3 BEY - - O—
2 g [ A
0 \
S 7. v O
et :
O lo {7 i Z-Ll ‘3—6
Minutes

# 13- 14:Mason can make 24 omelets with 8 eggs.
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12. A. What is the constant of/proportionality:
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B. Write an equation that models the line:

U = AL
O 7

Mason’s mom can make 30 omelets with 12 eqgs.

Write an equation that models how many omelets (t) each person can make wn‘h any number of eggs (9)-
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13. Equation to represent Mason: g

14. Equation to represent Mason’s mom:
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